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[ English Version ]
The figures in the margin indicate Sull marks.

1. Choose the correct answer (any ten) : 1x10
(a) Which of the following methods is based on the Rule of Exportation?
() Truth Tree method (i) Method of Indirect Proof
(i) Method of Conditional Proof (iv) Method of Existential Conditional.

(b) In which method of proof the antecedent of the conclusion is taken as an additional remise?
p p
() Method of Indirect Proof (i) Method of Conditional Proof
(iii) Method of Existential Conditionals (iv) Truth Tree method.

(¢) Which of the following is not true of Truth tree?
(i) Truth tree usually starts with a negation
() Truth tree is a decision procedure
(iii) A truth tree is valid if all paths are closed
(iv) Truth tree does not allow double negation.

(d) In Truth Tree method — (p & q) is transformed into
(i) Trunk statement (i) Branch statement
(i) Both trunk and branch statement (iv) None of these.

(¢) Who is the main exponent of truth tree method?
(1) William Jeffrey (i) Irving M. Copi
(i) Richard Jeffrey (iv) George Boole.
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Which of the following is true of an empty set?
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() Empty set is a subset of all sets

(i) There is only one empty set
(iif) Only an empty set can be a subset of an empty set
(iv) All of the above,

(g) If Set A= {l, 2, 3}, then how many subsets of Set A is possible?
@ 5 (@) 6
(i) 7 (iv) 8
(h) What is expressed by the symbol =?
(i) Inclusion (i) Membership
(1) Intersection (iv) Union.
() (x) (x € A—x e B) — This is the symbolic definition of which of the following?
(i) Identity (i) Inclusion
(iii) Membership (iv) None of these.
() In the context of Boolean Existence Schema, the sentence, “No European Swans are black™.— is
symbolized as :
(Where E = European, S = Swan, B = Black)
(i) —JESB (i) —IBSE
(i) —3SB (iv) 3JESB
(k) Which of the following is the correct form of Law of Existential Distribution (LED)?
() JFG=(3F-30G) @ 3(FvG)=(3FviIG)
@) -3(FvG)=(-3F v-3G) (iv) —3FG=(-3F- -3G)
(I) What is the truth functional statement constituted of Boolean existence schema or the negation of
it called?
(i) Boolean term schema (1) Boolean equation
(i) Boolean statement schema (iv) None of these.
2. Answer any five questions : 5%5
(a) Explain the relation between method of conditional proof and method of indirect proof with the help
of examples.
(b) Distinguish between counterexample and model for consistent set in the context of truth tree with
examples.
(c) Determine with the help of truth tree method whether the following sets of sentences are equivalent

to each other :
i) —-(A—>B)and A & -B
(i) A—»B and -A—-B
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What is wrong with the following argument?
Socrates is a man. Men are numerous. Therefore, Socrates is numerous.

Translate into set theoretical language :
() The Apostles are twelve.
(i) Planets are luminous.
(i) Some Americans are philosophers.
(iv) All coffee drinkers drink either tea or wine.
(v) There is no uniform that is not made of velvet.
Distinguish among transitive, intransitive and non-transitive relations with the help of examples.
Test the validity of the following argument with the method of existential conditional :
Some F are G or some F are H. Therefore, Some F are G or H

Show that EIO is valid in 1st and 2nd figure by the method of existential conditional.

3. Answer any two questions :

(a)

(b)

(©)

(i} What is the relation between method of conditional proof and the rule of exportation?
(i) Give the conditional proof of validity of the following arguments :
(1} (F3E).(Aolis (T.A)D(E.L)
2) Qv(R>YS), Ro@E-S)[o(Tv), (TSQ). U=v)/.QvvVv
(iii) Use the method of indirect proof to verify the following as tautology :
(A>B)v(A>~B) 4+(3+4)+H4
(i) State any three rules of constructing a truth tree.
(i) Test the validity of the argument with the help of truth tree :
Moriarty is guilty. Moriarty is not guilty. Therefore, Holmes is on the job.
(1) Test the validity of the following statement with the help of truth tree :
A—-(B-oA)
(iv) Are the following sentences consistent? Test with Truth tree method.
“PVvVQq pv—-q,-pv-q, —(pvQ) 3+4+4-+4
(i) What is the principle for extensionality for sets? Give its symbolic form.
(i) Which of the following statements are true for all sets A, B, and C?
(1) If AcB and B C, then B C
(2) If AeB and B=C, then A e C
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Write short notes on :

(1) Domain of individuals

(2) Complement of a set

Find the following :

(D) AN AL ) {A}N{A} (B) {A, {A}) ~ {A}, (@) {A, {A}}~A 3+a+a+4
What is existential conditional? Give an example.

Show with the method of existential conditionals that BRAMANTIP is invalid.

Test the following schemata for validity by the method of existential conditionals :

(1) 3JF 5. 3(FG v JG v GH)

(2) 3GJ-3GK =. 3(FGH v FI v HK)

Explain the validity rules of Boolean statement schema as stated by Quine with
examples. 2+4+4+5
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